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APF-2073

M.A. (Final) Examination, 2022
SOCIOLOGY
Paper - VIII(i)

(Industrial Sociology)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3k : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 IS) | Yo WY 2 3 T |
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tus-9) (3F® : 7 x 5 = 35)
T Ofer el % S SIfNU | TS 9§ foeheq @1 e #ifeg (Sw-dmE
200 ¥IsT) | TOF Y9 7 3TH H T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tus-—|) (3% : 15 x 3 = 45)
o= | § fegl 9 9v & St SifST (SW-Hm 500 Is) | Yo 99 15 37
Ealkd
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Section-A (@UE—37)
. (@ What is ‘Hawthorne Effect’ ?
‘el g’ T 2
(i1)) Define Industrialization.
strerfteRTor &1 g it
(ii1)) Concept of ‘Leisure’ in the World of Work.
Fd wi g # TR (RET & &) Y STAHROM |

(iv) Define ‘Automation’ in industrial work environment.
sienfir @ afae # s’ w1 aRfia s

(v)  What is meant by ‘Industrial Relations’ ?
‘STrENfiTes Tl ¥ o S § 2

(vi) Role of ‘Motivation’ in industrial productivity.
ST ScameR # s’ @ yfie

(vil) Why is community welfare of labourers important ?
gfgehl 1 AEEITS Hedr =i FeETe § 2

(viii) Define ‘labour’ in the context of industrial work.
sienfier w & wrery § Cgm’ o uRefea wifs

(ix) Concept of ‘Quality Circle’ in industrial management.
STENfe gorem & ‘Farferel |ithal' Y STIHRON |

(x)  Define ‘Management’.
‘gare’ w1 Rt wifsa

Section-B (@WUs-—4)

2. Mention the key socio-cultural factors that affect the industrial growth in a
country.

T I H ST Tyl ol o s o Hewqol QHTSeh-HIEh{qh HRehi & T
¥ fafeu |
Or (31a)
Write a short note on the process of industrialization in India.
IR H TR #t ¥ihar R o Aie fafem)
3. Throw light on the relative importance of ‘work’ and ‘leisure’ in industrial life.

SNt Sfem & ‘&’ iR ‘wEd’ & qemidsd Hed W YRR ST |
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Or (319

Industrial Sociology can help address the problems of industrial growth in a
systematic manner. Discuss this statement.

SN TSRS SEfiTe Ggfs F1 THaenel il aftd ®9 ¥ Tt w3 § g
FA T 3T FHIA HI ARAT FHI |

4. Industrial productivity is determined by many factors that help create a positive
work environment in an industry. Substantiate this argument.

SN ScaTeehdl i 9gd ¥ RS (UIRa I € S Tk =M H FehRIcHS T - Fara
S H Tedl Hd ©1 TE T w1 e Hifem)

Or (31

Write short notes on the following :

(1) Industrial society
(ii))  Post-industrial society
frafafea w— d@fvx femfrt fafew
()  siEnfre g
(i) SR-Fenfrs ga
5. Discuss main problems of industrial workers in India. Also suggest some feasible
ways to ease them out.

IRd | ST sfget = o Tuensii &1 == wiee | 99 & S U ¥ %59
eRlies gema ot S|
Or (31ra)

“Trade Unions are voluntary organizations of workers formed to protect and
promote their interests by collective actions.” Expand this statement.

“sifger Tw Al g0 A fedl & WEW IR HarF & fau I T Wtess gre
B €1 39 e @ famr wifsu)

6. Write short notes on the following :
(1)  Workers participation in management

(ii)) Role of Joint Management Councils (JMCs) in ensuring participatory
management in an industry

frafafea w dfva femfrt fafew

(i) e H gfgwl w1 e

(i) Uw SO H FEUFT YorEA i gEAved s § ggF yeeg 9ol (JMCs) @t
yftert
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Or (31

Critically examine the importance of understanding the dynamics of Labour-

Management Relations for Industrial growth and development in India.

IRa § ST dgfs iR o ¥ ¢ 99-Werem "’ i TccHshal s q9e Wi

ha [aWa
AR dendl T SAATEATHE S (151U |

Section-C (@US-W)

7. “Industrial Sociology is a substantive area of General Sociology.” Discuss the

nature and scope of Industrial Sociology in the light of this statement.

“ ST TSI S SIS 1 T T @ &5 81" 39 HUF & YT # i
USRS i YHid IR &3 &1 = Fife |

8. Write an essay on the role of innovation and adjustment strategies in enhancing
industrial growth in India.
IRA § AETe Tgfe H gfg F TG TAER IR FHESE A Hi JfHeT | TH
frery fafew)

9. Discuss various models of industrial growth and development in the light of
their underlying sociological and ideological bases.

U i FHRTGTT iR qrifTr ourl & g B sieifrs g9fs ok fawm &
fafim Ateew (wfaed) &t == Hifsw)

10. “Industrial performance and growth depend on the dynamics of relationship

among workers, supervisors and authority.” Flucidate this statement.

“sFrenfirr foues iR dafs gfael, et SR O & e gl Hi TEdsda T
fat we €1" 39 weA w1 Teear fag Wit

11. Give a substantial account of the growth of Collective Bargaining in India. Also

explain the factors that hinder its growth.

IRA H wHfeh Fearst & faem 1 orer-sien e s9@ fasm w5 sf v o
HRHT HT ot A HIST
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